
O+
8 (2).3 (mod 5)

blocks defect matrix

G : 1 2 16× 14
2 1 5× 4
3 0 501 = χ6,0, ϕ6,0

4 0 502 = χ6,1, ϕ6,1

5 = 4 0 503 = χ6,2, ϕ6,2

6 0 1751 = χ10,0, ϕ10,0

7 0 1752 = χ10,1, ϕ10,1

8 = 7 0 1753 = χ10,2, ϕ10,2

9 0 3001 = χ14,0, ϕ14,0

10 0 3002 = χ14,1, ϕ14,1

11 = 10 0 3003 = χ14,2, ϕ14,2

12 0 3501 = χ15,0, ϕ15,0

13 0 3502 = χ15,1, ϕ15,1

14 = 13 0 3503 = χ15,2, ϕ15,2

15 0 5251 = χ16,0, ϕ16,0

16 0 5252 = χ16,1, ϕ16,1

17 = 16 0 5253 = χ16,2, ϕ16,2

18 0 7001 = χ20,0, ϕ20,0

19 0 7002 = χ20,1, ϕ20,1

20 = 19 0 7003 = χ20,2, ϕ20,2

21 0 21001 = χ21+, ϕ21+

22 0 31501 = χ28+, ϕ28+

23 0 14001 = χ34,0, ϕ31,0

24 0 14002 = χ34,1, ϕ31,1

25 = 24 0 14003 = χ34,2, ϕ31,2

26 0 47251 = χ35+, ϕ32+

27 0 63001 = χ38+, ϕ39+

28 0 32001 = χ50,0, ϕ42,0

29 0 32002 = χ50,1, ϕ42,1

30 = 29 0 32003 = χ50,2, ϕ42,2

31 0 42001 = χ52,0, ϕ43,0

32 0 42002 = χ52,1, ϕ43,1

33 = 32 0 42003 = χ52,2, ϕ43,2

34 0 60751 = χ53,0, ϕ44,0

35 0 60752 = χ53,1, ϕ44,1

36 = 35 0 60753 = χ53,2, ϕ44,2



Block 1: ϕ1,0 ϕ1,1 ϕ1,2 ϕ2,0 ϕ2,1 ϕ2,2 ϕ7+ ϕ17+ ϕ24,0 ϕ24,1 ϕ24,2 ϕ35,0

11 = χ1,0 1 . . . . . . . . . . .
12 = χ1,1 . 1 . . . . . . . . . .
13 = χ1,2 . . 1 . . . . . . . . .
281 = χ2,0 . . . 1 . . . . . . . .
282 = χ2,1 . . . . 1 . . . . . . .
283 = χ2,2 . . . . . 1 . . . . . .
2521 = χ7+ 1 1 1 . . . 1 . . . . .

17011 = χ17+ . . . 1 1 1 . 1 . . . .
9721 = χ27,0 1 . . . . . 1 . 1 . . .
9722 = χ27,1 . 1 . . . . 1 . . 1 . .
9723 = χ27,2 . . 1 . . . 1 . . . 1 .
40321 = χ31+ . . . . . . 1 1 1 1 1 .
68041 = χ44+ . . . . . . . 1 . . . 1
40961 = χ51,0 . . . 1 . . . 1 1 . . 1
40962 = χ51,1 . . . . 1 . . 1 . 1 . .
40963 = χ51,2 . . . . . 1 . 1 . . 1 .

(Block 1:) ϕ35,1 ϕ35,2

11 = χ1,0 . .
12 = χ1,1 . .
13 = χ1,2 . .
281 = χ2,0 . .
282 = χ2,1 . .
283 = χ2,2 . .
2521 = χ7+ . .

17011 = χ17+ . .
9721 = χ27,0 . .
9722 = χ27,1 . .
9723 = χ27,2 . .
40321 = χ31+ . .
68041 = χ44+ 1 1
40961 = χ51,0 . .
40962 = χ51,1 1 .
40963 = χ51,2 . 1

ϕ1,0 = 11
ϕ1,1 = 12
ϕ1,2 = 13
ϕ2,0 = 281
ϕ2,1 = 282
ϕ2,2 = 283
ϕ7+ = 2491
ϕ17+ = 16171
ϕ24,0 = 7221
ϕ24,1 = 7222
ϕ24,2 = 7223
ϕ35,0 = 17291
ϕ35,1 = 17292
ϕ35,2 = 17293



Block 2: ϕ3+ ϕ11+ ϕ25+ ϕ36+

1051 = χ3+ 1 . . .
6301 = χ11+ . 1 . .
25201 = χ24+ 1 . 1 .
67201 = χ41+ . 1 . 1
85051 = χ47+ . . 1 1

ϕ3+ = 1051
ϕ11+ = 6301
ϕ25+ = 24151
ϕ36+ = 60901


